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gkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kk

High School Certificate Examination
lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=

SAMPLE PAPER
fo"k; %&fo"k; %&fo"k; %&fo"k; %&fo"k; %& (Subject) - xf.kr xf.kr xf.kr xf.kr xf.kr (Mathematics) le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk (Time- 3 Hrs)
d{kk %&d{kk %&d{kk %&d{kk %&d{kk %& (Class) - nloha nloha nloha nloha nloha (X) iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 (M.M.)

Set - A

(Instruction)     & ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½

1- lHkh iz'u gy djuk vfuok;Z gS A

Attempt all the Question
2- iz'u Øekad 01 esa 10 vad fu/kkZfjr gS A nks dky[k.M gS A [k.M ^^v** esa 05

cgqfodYih; iz'u rFkk [k.M ^^c** esa 05 fjDr LFkkuksa dh iwfrZ vFkok mfpr

laca/k tksfM, A izR;sd iz'u ds fy, 1 vad vkcafVr gS A

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

3- iz'u Øekad 02 ls iz'u Øekad 09 rd vfr y?kqmRrjh; iz'u gS A izR;sd iz'u

ij 02 vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 30 'kCn A

Q. No. 2 to 09 are very short answer type question & it carries 02 marks
each. Word limit is maximum 30.

4- iz'u Øekad 10 ls iz'u Øekad 15 rd y?kqmRrjh; iz'u gS A izR;sd iz'u ij 03

vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 50 'kCn A

Q. No. 10 to 15 are short answer type question & it carries 03 marks
each. Word limit is maximum 50.

5- iz'u Øekad 16 ls iz'u Øekad 21 rd y?kqmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 04 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 75 'kCn A

Q. No. 16 to 21 are short answer type question & it carries 04 marks
each. Each question has internal choice. Word limit is maximum 75.
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6- iz'u Øekad 22 ls iz'u Øekad 25 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 05 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 100 'kCn A

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.

7- iz'u Øekad 26 ls iz'u Øekad 27 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 06 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 150 'kCn A

Q. No. 26 to 27 are long answer type question & it carries 06 marks
each. Each question has internal choice. Word limit is maximum 150.
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iz'u 1 ¼v½ lgh fodYi pqfu, %&

(i) 7] 9] 21 dk PkRkqZFkkUkqIkkRkh gSA ¼1½

(a) 27 (b) 21 (c) 18 (d) 36

(ii) 120º dk jsfM¸kUk Eksa EkkUk gksXkk& ¼1½

(a) 2
π (b) 3

π (c) 4
π (d) 2

3
π

(iii) Ok`Ùkk/kZ dk dks.k gksRkk gS& ¼1½

(a) 60º (b) 90º (c) 120º (d) 180º

(iv) 8 dk f}vk/kkjh Ikz.kkYkh Eksa EkkUk gksXkk& ¼1½

(a) 100 (b)1000 (c) 1010 (d) 1001

(v) ,d fLkDds dks mNkYkUks Ikj 'kh"kZ vkUks dh Ikzkf¸kdRkk gksXkh& ¼1½

(a) 1 (b)  1
2 (c)  2

3 (d) 1
4

(A)  Choose the correct answer -

(i) Fourth proportional of 7, 9 and 21 is -

(a) 27 (b) 21 (c) 18 (d) 36

(ii) Value of 120º in radian is -

(a) 2
π (b) 3

π (c) 4
π (d) 2

3
π

(iii) Angle of semi circle is -

(a) 60º (b) 90º (c) 120º (d) 180º

(iv) Valur of 8 in Binary number is -

(a) 100 (b)1000 (c) 1010 (d) 1001
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(v) The probability of getting heads in a throw of a coin is -

(a) 1 (b)  1
2 (c)  2

3 (d) 1
4

¼Ck½ fjDRk LFkkUkksa dh IkwfRkZ dhft,&

(i) 2 vkSj 10 dk LkEkkaRkj Ekk/¸k ------------------------ gksXkk A ¼1½

(ii) fUknsZ'kkad (–a, –b) ------------------------ PkRkqZFkkaLk Eksa fLFkRk gksXkkA ¼1½

(iii) 21 tan θ+  ¾ ------------------------ gksXkk A ¼1½

(iv) ?kUk ds dksjks dh Lka[¸kk ------------------------ gksRkh gSA ¼1½

(v) 3]  4 ,Oka 5 Lks-Ekh- HkqTkk OkkYks f«kHkqTk dks ------------- f«kHkqTk dgRks gSaA ¼1½

(B) Fill in the Blanks -

(i) Arithmetic means of 2 and 10 is .........................

(ii) Co-ordinate (–a, –b) lies on .................. quadrant.

(iii) Vlaue of 21 tan θ+   ........................

(iv) Number of edges in cube is ...........................

(v) Triangle whose sides are 3 cm., 4 cm. and 5 cm. called ............... triangle.

Ikz'Uk 2-
2

2

1
1

+
−

x
x

 vkSj 
1
2

+
+

x
x  dk ¸kksXkQYk KkRk djks A ¼2½

Find the sum of  
2

2

1
1

+
−

x
x

 and 
1
2

+
+

x
x

Ikz'Uk 3- 2 7 12+ = −x x  ds EkwYk KkRk dhfTk, A ¼2½

Find the roots of 2 7 12+ = −x x
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Ikz'Uk 4
cos51º
sin39º  dk EkkUk KkRk dhfTk,A ¼2½

Find the value of 
cos51º
sin39º

Ikz'Uk 5- ¼&2]6½ vkSj ¼3]&6½ ds CkhPk dh nwjh KkRk dhfTk, A ¼2½

Find the distance between (–2, 6) and (3, –6).

Ikz'Uk 6 ,d YkaCk f«kHkqTkh¸k fIkzTEk ds vk/kkj dh IkfjEkkIk 30 Lks-Ekh- vkSj ÅaPkkbZ 5 Lks-Ekh- gS

Rkks mLkdk Ikk'OkZ Ik`"B KkRk dhfTk, \    ¼2½

Find the lateral surface of prism whose height is 5 cm. and perimeter of

base is 30 cm.

Ikz'Uk 7 ∆ ABC Eksa DE||BC RkFkk AD ¾ 3 DB ¾ 5 Lks -Ekh- AC ¾ 12 Lks-Ekh- gks Rkks AE

dk EkkUk KkRk djks A    ¼2½

In ∆ ABC] DE||BC, AD = 3cm. DB = 5 cm. and AC = 12 cm. Find the

value of AE.

Ikz'Uk 8 vYxksfjFe dks IkfjHkkf"kRk dhfTk, A ¼2½

Define algorithm.

Ikz'Uk 9- 15 Eksa Lks 40 dks ?kVkb¸ks Ikwjd Ik)fRk Lks A ¼2½

Subtract 15 from 45 by complement theory.

Ikz'Uk 10 Lks Ikz'Uk 15 ¼IkzR¸ksd Ikj 3 vad½

Ikz'Uk 10 IkfjEks¸k O¸kaTkd 2

7
12

x
x x+ −  Eksa Lks D¸kk ?kVk¸kk Tkk¸k fd Ikfj.kkEk 

4
4 + x  IkzkIRk

gksA    ¼3½

What should be subtract from 2

7
12

x
x x+ −  to get 

4
4 + x .
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Ikz'Uk 11 Js.kh 3] 8]13] 18]----------------------- dk dkSUk Lkk Ikn 498 gSA ¼3½

Which term of the series 3, 8, 13, 18 ......... is 498.

Ikz'Uk 12 ;fn 
2
3

+ =
−

x y
x y  gks rks :x y  dk eku Kkr djksA ¼3½

If 
2
3

+ =
−

x y
x y  then find the value of :x y .

Ikz'Uk 13 fLk) dhfTk, & ¼3½

Prove that :

1 sinsec tan
cos

θθ θ
θ

−− =

Ikz'Uk 14 ,d 'kadq dk O¸kkLk 12 Lks-Ekh- vkSj Å¡PkkbZ 6 LksEkh- gS Rkks 'kadq dh fr¸kZd Å¡PkkbZ

KkRk dhfTk, A    ¼3½

The diameter of a cone is 12 cm. and height 6 cm. Find the slant height

of the cone.

Ikz'Uk 15 EkksgUk Uks Ñf"k fOkdkLk CkSad Eksa 50000 :Ik¸ks dk 2 Ok"kZ ds fYk, LkkOkf/k TkEkk fd¸kkA

¸kfn C¸kkTk dh nj 10 IkzfRk'kRk Okkf"kZd gks RkFkk C¸kkTk IkzfRk N% Ekkg Ckkn Lka¸kksfTkRk

gksRks gS Rkks IkfjIkDOkkRkk Ikj CkSad mLks fdRkUkk /kUk nsXkk A    ¼3½

Mohan deposit Rs. 50000 in Krishi Vikas Bank for 2 year in fixed deposite

account. If the rate of interest is 10% p.a., then calculate the maturity

amount if the interest is compounded half yearly.

Ikz'Uk 16 a ds fdLk EkkUk ds fYk, fCkanq ¼1]4½ ]¼a, &2½ vkSj ¼&3]16½ Lkejs[k gksaXks&   ¼4½

For what value of a, the point (1, 4), (a –2) and (–3, 16) will be colliner.

¼vFkOkk½ (OR)
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mLk f«kHkqTk dk dsUæd KkRk dhfTk, fTkLkds 'kh"kksZ ds fUknsZ'kkad ¼4] 3½] ¼2] &3½]

¼&3] 5½ gSA

Find the centroid of a triangle whose vertices are (4, 3), (2, –3) and ( –3,

5).

Ikz'Uk 17 fdLkh f«kHkqTk ds dks.k LkEkkaRkj Js.kh Eksa gS LkCkLks CkMs dks.k dk EkkUk 1050 gS RkhUkksa

dks.kksa ds EkkUk dk jsfM¸kUk Eksa KkRk dhfTk, A    ¼4½

The angles of a triangle are in A.P. The biggest angle is 105º. Find the

angles in radian.

¼vFkOkk½ (OR)

,d f«kHkqTk ds dks.k 2%3%4 Eksa gS A f«kHkqTk ds dks.kksa ds EkkIk jsfM¸kUk Eksa KkRk

dhfTk,A

The angles of a triangle are in the ratio 2 : 3 : 4. Find the measures of

angles in radian.

Ikz'Uk 18 secθ=x a  RkFkk tanθ=y b  gks Rkks fLk) dhfTk, fd 
2 2

2 2 1− =x y
a b

- ¼4½

If secθ=x a  and tanθ=y b  then prove that : 
2 2

2 2 1− =x y
a b

¼vFkOkk½ (OR)

¸kfn cos sinθ θ= −x a b  RkFkk sin cosθ θ= +y a b  gks Rkks fLk) dhfTk, fd
2 2 2 2+ = +x y a b -

If cos sinθ θ= −x a b  and sin cosθ θ= +y a b  then prove that :
2 2 2 2+ = +x y a b -

Ikz'Uk 19 mLk CkM+s Lks CkM+s 'kadq dk vk¸kRkUk KkRk dhfTk, Tkks mLk ?kUk Eksa Lks dkVk Xk¸kk gS

fTkLkdh dksj YkaCkkbZ 3 Lks-Ekh- gSA    ¼4½
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Find the volume of the greatest cone which can be cut from a cube

whose edge is 3 cm.

¼vFkOkk½ (OR)

fdLkh XkksYks dk Ik`"Bh¸k {ks«kQYk 616 OkXkZ LksEkh- gks Rkks XkksYks dk vk¸kRkUk KkRk

dhfTk, A

The curved surface of sphere is 616 cm.2 then find the volume of sphere.

Ikz'Uk 20- nks LkkEkkU¸k f«kHkqTkksa ds {ks«kQYk dk vUkqIkkRk fdUgha nks LkaXkRk HkqTkkvksa ds OkXkksZ ds

vUkqIkkRk ds CkjkCkj gksRks gSaA    ¼4½

Prove that the ratio of the areas of two similar triangles is equl to the

ratio of the squares of any two corresponding sides.

¼vFkOkk½ (OR)

FksYLk IkzEks¸k fYkf[k, ,Oka fLk) dhfTk, A

State and prove that Thales theorem.

Ikz'Uk 21- ,d FkSYks Eksa 4 dkYkh] 5 YkkYk] RkFkk 7 LkQsn Xksans gSA ¸kfn ,d Xkasn ¸kkn`PN¸kk

fUkdkYkh Tkk¸k Rkks bLkdh Ikzkf¸kdRkk D¸kk gksXkh fd fUkdkYkh XkbZ Xksan& (i) LkQsn

gksXkh (ii) LkQsn ¸kk dkYkh A

A bag contains 6 black, 5 red and 7 white balls. If one ball is drawn at

random. What is probability that the ball drawn will be - (i) White, (ii)

White or black.

¼vFkOkk½ (OR)

vPNh Ikzdkj Lks QsVh XkbZ 52 Rkk'kksa dh ,d XkM~Mh Eksa Lks ,d Rkk'k ̧ kkn`PN¸kk [khaPkk

TkkRkk gS] Rkks fUkEUk dh Ikzkf¸kdRkk KkRk dhfTk, A

(i) ,d iku dk rk'k gksA  (ii) iku ;k bZaV dk ,Ddk gksA
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From a well shuffled pack of 52 cards, one card drawn at random. Find

the probability of the following -

(i) One card is of heart

(ii) Ace of heart or diamond.

Ikz'Uk 22 ¸kfn 
3=
+
abx

a b  gks Rkks fLk) dhfTk, fd 
2 3 2 3 2
2 3 2 3

+ ++ =
− −

x a x b
x a x b - ¼5½

If 
3=
+
abx

a b , then prove that 
2 3 2 3 2
2 3 2 3

+ ++ =
− −

x a x b
x a x b

¼vFkOkk½ (OR)

RkhUk LkEkkUkkaRkj Jsf.k¸kksa ds n Iknksa dk ¸kksXkQYk ØEk'k% S1, S2, S3 gSA fTkUkds

IkzFkEk Ikn 1] 2] 3 RkFkk LkkOkZURkj ØEk'k% 1] 3] 5 gSA Rkks fLk) dhfTk, fd &

S1+ S2+ S3 = 
3 (3 1)
2

+n n

If S1, S2, S3 be the sum of n terms of three A.P. and their first terms are

1, 2, 3 respectively and common difference are 1, 3, 5, then prove that

S1+ S2+ S3 = 
3 (3 1)
2

+n n ¼5½

Ikz'Uk 23 ?kUk'¸kkEk dk EkwYk OksRkUk IkzfRkEkkg 12500 :Ik¸ks gSa RkFkk EkgaXkkbZ HkÙkk IkzfRkEkkg 6300

:Ik¸kk IkzkIRk djRkk gS A ¸kfn Okg LkkEkkU¸k HkfOk"¸k fUkf/k Eksa IkzfRkEkkg 2000 :-] th-

vkbZ-,l- esa IkzfRkEkkg 250 :- RkFkk HkkjRkh¸k TkhOkUk CkhEkk IkzhfEk¸kEk Eksa IkzfRkOk"kZ

69000 :- ,oa Mkd?kj TkhOkUk CkhEkk IkzhfEk¸kEk IkzfRkOk"kZ 10000 :- TkEkk djRkk gS A

mLkds }kjk nş k dqYk vk¸kdj KkRk dhfTk, A    ¼5½

Basic salary of Ghanshyam is R.s 12500 per month and D.A. is Rs.

6300 per month. He invests Rs. 2000 per month in G.P.F., Rs. 250 per

month is G.I.S. and Rs. 69000 yearly as annual premium to L.I.C. and

also Rs. 10000 yearly in post office L.I.C. premium. Calculate the in-
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come tax paid by him?

Rate of income tax :

upto Rs. 1,10,000 nil

From Rs. 1,10,001 to 1,50,000 10%

From Rs. 1,50,001 to 2,50,000 20%

above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.

¼vFkOkk½ (OR)

'kkfYkUkh dh Okkf"kZd vk¸k ¼EkdkUk fdjk¸kk HkRRkk NksMdj½ 1]80]000 :Ik¸ks gSaA ¸kfn

Okg LkkEkkU¸k HkfOk"¸k fUkf/k Eksa IkzfRkOk"kZ 40000 :Ik¸ks] LkEkwg TkhOkUk CkhEkk ¸kksTkUkk Eksa]

250 :Ik¸ks IkzfRkEkkg RkFkk 5000 v)Z Okkf"kZd TkhOkUk CkhEkk IkkfYklh Eksa fd'Rk TkEkk

djRkh gSA KkRk dhfTk, fd 'kkfYkUkh dks vIkUks vk¸kdj mLk fOkÙkh¸k Ok"kZ fdRkUkk

vk¸kdj nsUkk gksXkkA

The annual income of Mrs. Shalini (Excluding HRA) is Rs. 180000. If

she deposite Rs. 40000 per year in G.P.F., Rs. 250 per month in G.I.S.

and Rs. 5000 half yearly premium towards L.I.C. Calculate her income

tax payable in the financial year.

Rate of income tax :

upto Rs. 1,10,000 nil

From Rs. 1,10,001 to 1,50,000 10%

From Rs. 1,50,001 to 2,50,000 20%

above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.

Ikz'Uk 24 f«kHkqTk ∆ LMN dh jPkUkk dhfTk, Tkgk¡ MN = 5 Lks-Ekh-] ∠ L = ∠ 55º vkSj L

Lks MkYkk Xk¸kk 'kh"kZ YkaCk  3-5 Lks-Ekh- gksA jPkUkk ds Ikn Hkh fYkf[k, A

Contrust ∆ LMN in which MN = 5 cm., ∠ L = 55º and perpendicular
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from L is 3.5 cm. Write steps of construction.

¼vFkOkk½ (OR)

,d PkØh¸k PkRkqZHkqTk ABCD dh jPkUkk dhfTk, fTkLkEksa ∠ ABC = 90º, AC ¾ 6

Lks-Ekh-] AB ¾ 3 Lks-Ekh-] CD ¾ 3-6 Lks-Ekh- jPkUkk ds Ikn Hkh fYk[kksA

Construct a cyclic quadrilateral ABCD in which ∠ ABC = 90º, AC ¾ 6

cm., AB ¾ 3 cm.,  CD ¾ 3.6 cm.  Write steps of construction.

Ikz'Uk 25- fUkEUk Lkkj.kh Lks Ekkf/¸kdk KkRk dhfTk, & ¼5½

OkXkZ vaRkjkYk 0&10 10&20 20&30 30&40 40&50

CkkjaCkkjRkk 4 8 10 11 16

Find the medium of the following table :

Class 0–10 10–20 20–30 30–40 40–50

Frequency 4 8 10 11 16

¼vFkOkk½ (OR)

fUkEUk vkd`fr caVu Lks cgqyd KkRk dhfTk, &

OkXkZ 0&10 10&20 20&30 30&40 40&50 50&60   60&70

CkkjaCkkjRkk 8 15 21 37 31 14 12

Find the mode of the following table :

Class 0–10 10–20 20–30 30–40 40–50 50–60     60–70

Frequency 8 15 21 37 31 14 12

Ikz'Uk 26 ,d Ok"kZ IkwOkZ fIkRkk dh vk¸kq Ikq«k dh vk¸kq ds 8 XkqUkh Fkh vkTk fIkRkk dh vk¸kq Ikq«k

dh vk¸kq ds OkXkZ ds CkjkCkj gSA Rkks mUkdh OkRkZEkkUk vk¸kq KkRk dhfTk,\    ¼6½

One year ago, a man was 8 times as old as his son. Now his age is equal
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to the square of his son's age. Find their present ages.

¼vFkOkk½ (OR)

nks ØEkkXkRk LkEk Lka[¸kk¸ks KkRk dhfTk, fTkUkds OkXkksZ dk ¸kksXk 164 gSA

The sum of squares of two consecutive even numbers is 164. Find the

numbers.

Ikz'Uk 27 fLk) dhfTk, fd fdLkh LkEkCkkgq f«kHkqTk dh fdLkh HkqTkk ds OkXkZZ ds fRkXkqUkk mLkdh

ÅaPkkbZ ds OkXkZ ds Pkkj XkqUks ds CkjkCkj gksRkk gSA    ¼6½

Prove that three times the square of any side of an equilateral triangle is

equal to four times the square of the altitude.

¼vFkOkk½ (OR)

¸kfn PAB Ok`Ùk dh Nsnd js[kk gks Tkks Ok`Ùk dks A vkSj B Ikj IkzfRkPNsn djRkh gS

vkSj PT ,d LIk'kZ js[kk [k.M gks Rkks fLk) dhfTk, PA.PB = (PT)2

If PAB is a secant to a circle which intersecting the circle at A and B and

PT is a tangent segment, then show that : PA.PB = (PT)2

&&00&&


